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pref. attach. (N=29, m=1, a=1.02)
causal emergence=0.0969

0.0175 A
number of macronodes: 3
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pref. attach. (N=30, m=2, a=1.92)
causal emergence=0.1706

0.0175 4

number of macronodes: 5
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pref. attach. (N=30, m=1, a=1.53)
causal emergence=0.0611

0.0175 4

number of macronodes: 3

0.0150 A
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0.0050 A

0.0025 A

0.0000 A
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pref. attach. (N=35, m=1, a=1.78)
causal emergence=1.1176

0.0175 4

number of macronodes: 2

0.0150 A

0.0125 4

0.0100 A

0.0075 A

0.0050 A

0.0025 A

0.0000 A

100 10! 102

pref. attach. (N=27, m=1, a=1.59)
causal emergence=0.8530

0.0175 -
number of macronodes: 2
0.0150 -
0.0125 -
0.0100 -
0.0075 -

0.0050 A

0.0025 A

0.0000 A

100 10! 102 103

pref. attach. (N=30, m=1, a=1.62)
causal emergence=1.1460

0.0175 -
number of macronodes: 1
0.0150 -
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0.0075 -

0.0050 A

0.0025 A
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pref. attach. (N=31, m=2, a=0.98)
causal emergence=0.0168

0.0175 A
number of macronodes: 1
0.0150 -
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0.0100 -
0.0075 -

0.0050 A

0.0025 A
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pref. attach. (N=29, m=1, a=1.58)
causal emergence=0.1578

0.0175 4

number of macronodes: 4
0.0150 -

0.0125 4
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0.0075 A
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0.0025 A

O_OOOOTIIIIIII

109 ot 102 100
pref. attach. (N=27, m=1, a=1.67)
causal emergence=0.2532

0.0175 -
number of macronodes: 3
0.0150 -
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0.0075 -

0.0050 A
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pref. attach. (N=34, m=1, a=1.04)
causal emergence=0.1659

0.0175 A
number of macronodes: 3

0.0150 A

0.0125 4

0.0100 A

0.0075 A

0.0050 A

0.0025 A
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pref. attach. (N=29, m=1, a=1.36)
causal emergence=0.1130

0.0175 -
number of macronodes: 3
0.0150 -
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0.0075 -

0.0050 A

0.0025 A

0.0000 A

100 10! 102 103

pref. attach. (N=32, m=1, a=1.94)
causal emergence=1.2221

0.0175 -
number of macronodes: 1
0.0150 -
0.0125 -
0.0100 -
0.0075 -

0.0050 A

0.0025 A

0.0000 A
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pref. attach. (N=34, m=1, a=1.75)
causal emergence=0.5123

0.0175 A
number of macronodes: 3
0.0150 -
0.0125 -
0.0100 -
0.0075 A

0.0050 A

0.0025 A
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pref. attach. (N=30, m=2, a=1.30)
causal emergence=0.0194

0.0175 4

number of macronodes: 2

0.0150 A

0.0125 4

0.0100 A

0.0075 A

0.0050 A

0.0025 A

0.0000 A
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pref. attach. (N=31, m=2, a=1.35)
causal emergence=0.0685

0.0175 -
number of macronodes: 1
0.0150 -
0.0125 -
0.0100 -
0.0075 -

0.0050 A

0.0025 A

0.0000 A




